Algebra 2 Bellwork  Wednesday, October 28, 2015

4. A bakery uses a special flour mixture that contains
corn, wheat, and rye in the ratio of 3:5:2. If a bag of the
mixture contains 5 pounds of rye, how many pounds of
wheat does it contain?

N
B) 5
€ 175
(D) 10
(E) 125

5. If WY and XZ are diameters with lengths of 12, what is
the area of the shaded region?

(A) 36
(B) 30
© 18
D) 12
E 9

8. If c is positive, what percent of 3¢ is 9 ?

c & 90 )
@ 5% B % © % D 3% ® -

%

D (-6, 3) E(-1,-1) F(-1,3)

9. The coordinates of points D, E, and F in the xy-plane are
given above. What is the perimeter of ADEF ?

(A) 12

B) 20

C 9+ s/ﬁ (approximately 13.12)
(D) 9+ J41 (approximately 15.40)
(E) \/B_d (approximately 12.25)



Algebra2  Bellwork  Wednesday, October 28, 2015 |
Arnsurens
4. A bakery uses a special flour mixture that contains

corn, wheat, and rye in the ratio of 3:5:2. If a bag of the
mixture contains 5 pounds of rye, how many pounds of

wheat does it contain? o™ \eart e

@) 2 ERA

®B) 5 v y
© 73 pled o 3 A —
(D) ' 2- S/

® 125 x= /2
_;___/

5. If WY and XZ are diameters with lengths of 12, what is
the area of the shaded region? UG -Y5 -GpA | = L%
(A) 36 Atea. ot Area

3’“ pelhet s
(C) 18 7(2Y3r7— > L
D) L( B A% G }

(B) 9 =21 =1 6 L= -Z

=z

—

8. If c is positive, what percent of 3¢ is 9 ?

c C ’
@ P ® % © % O 3% (®

% _ 15 X = 7 ) X = Foo 200
IDO - /’D$—~ jo2 T 3& —

D (-6, 3) E(1,-1) F(1,3)

9. The coordinates of points D, E, and F in the xy-plane are
given above. What is the perimeter of ADEF ?

(A) 12 | e |13

(B) 20 ) 5 _
) 9+ J17 (approximately 13.12) E{ -

@ 9 ++/41 (approximately 15.40) , / £

(E) J150 (approximately 12.25) ;= & e /= =)
\/\L: 11\
h=CH




